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£ )RR 882 #% 3

59 A 1A= it 1880 & o) 1 A] = i 1924 3% 5
) e R 5 1881 % 1
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>S5 F _ SO ME
“ BT X4 W% 4 i T o=
60 | 1AZERT T 1880 #% 1 ) AR T2 I 1922 % 7
AN BT 1 1880 % 2
A ) 1R 5 1886 & 2
A B 1887 & 1
A ) 1T 5 1887 % 2
A BT 1887 % 3
A ) ] = 5 1888 % 4
61  |F) AR5t 1880 % 4 o) 1 ] = i 1922 % 6
A3 ) 1R 5 1887 % 6
62 |F) AR5t 1881 & 2 o) 1 ] = i 1922 % 3
A ) 1] = 5 1884 % 1
63 |1 =R 5 1886 # 3 A1 AR =I5 1916 & 12
A ) 1A RRT =5 1887 % 4
) T f] =I5 1887 % 5
A ) 1A RRT =5 1888 % 2
) T f] =I5 1888 % 3
A ) 1A RRT =5 1889 % 4
) T ] =I5 1889 % 5
64 | £ AR5t 1890 # A1) 1 A = i 1919 % 4
A ) 1R 5 1931 % 4
65 | A1) 1A% T2 5t 1893 % 4 A1) 1 A = i 1916 % 9
A ) 1R 5 1893 % 5
66 | £ 1A% T2 5t 1919 % A1) 1 A = i 1919 % 10
A1) e R 5 1920 % 1
67 | AR T 1934 % A1) 1 A = i 1936 % 2
) NERT 5 1934 % 1
o) 1T 5 1934 3% 2
68 | IAERT 5 1946 ) AR T I 1936 % 16
o) 1T 5 1946 & 2
) e R 5 1946 % 3
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>S5 F S EAME
5 il W=
A4 H S W] X374 H &

1 \)I—TH 741 % 1 ) 1L 728 % 1
£)I1—TH 732 % 5

2 |BHN—TH 741 % 5 ) 1L 733 & 1
) AT i 1924 % 4

3 B TH 747 % 10 ) 17K TR 752 %
A TH 752 % 1

4 |\ =TH 747 & 11 ) 17K TR 755 %
A TH 755 % 6

5 |BI—-TH 755 &K 7 AN KT 754 % 3
A TH 752 % 9

6 |)II=TH 755 % 5 ) 17K TR 760 % 1
FNTH 776 % 1

T )T HE 775 % 6 ) 17K TR 782 % 2
FNTH 776 % 5

8 |- TH 776 % 9 £ )N KB T 767 &
AN ZTH 776 F 12
AN ZTH 776 #F 15
FNTH 779 % 3
AIN_TH 779 F 6
AIN_TH 779 F 9

9 |EJIIZTH 776 # 10 AN IKTR TR 767 F 1
A)NZTH 776 % 13
A)NZTH 776 % 16
AIN_TH 779 F 2
AIN_TH 779 % 5
AN ZTH 779 % 8

10 [(A)IIZ=TH 779 #F 11 AN ARTR TR 776
AN ZTH 779 % 12

11 [@)=TH 879 % 11 ) KT R 799 % 1
AN ZTH 879 & 7
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>S5 F S EAME

o il .

7 i % T WU T i

12 [A)HKE R 838 & 14 )RR 838
AR R 838 # 3

13 [ )RR 862 % 3 ) KRR 851
) 17K TR 838 #F 11

14 [A)KE R 855 % 6 ) 17K TR 857 &
) 17K TR 862 #F 11

15 [ KA 855 % 13 ) 17K TR 855 &
) 17K TR 855 & 7

16 [A) 1K A 855 % 16 ) 17K TR 840 #F 1
) 17K TR 855 #F 17

17 | 862 % 12 £ )N KB T 862 &
) 17K TR 862 % 4

18 | F 7K 862 % 9 FER oSS 1945
A1) 1] =5 1944 7 8

19 [AJHKE A 877 % 8 ) KRR 872 &
A1) 17K TR 872 % 1

20 |1 1919 % 13 1 2R T 5 1918 #
A1) 1] =5 1919 % 2

21 | AR =R 1919 & 12 eI IE DT 1922
A1) ] =1 1919 % 3

22 | 1AZER =R 1924 % 8 eI IE DT 1921
A1) 1] =1 1924 % 7

23 | 1R =R 1936 # 12 eI IE DT 1935
A1) ] =1 1936 % 4

24 | ) 1AZERT =R 1936 % 9 eI IE DT 1928
A1) e R] 1936 & 7

25 | 1R =R 1944 % 1 eI I E DT 1944 Z
eI IE DT 1944 % 2

26 | ) 1R =R 1948 Z 3 eI I E DT 1904 % 2
eI IE DT 1948 # 5
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